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> [Command = 0] Connection status
Q [Status < 128] Busy

o [Status > 128) No Busy

» [Command = 1] The pointer of type of memory
o [Data = (] External EEPROM
o [Data = 1] External RAM

> [Command = 2] Client power supply
o [Data = 1] Power On

o [Data = 0] Power Off
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> [Command = 3] The code of client

a

Q

[Data = 0] Deactivate all signal line

[Data = 1] Signal line 1 is activate

[Data = 2] Signal line 2 is activate

[Data = 3] Signal fine 1 and 2 are activate
[Data = 4] Signal line 3 is activate

[Data = 5] Signal line 1 and 3 are activate
[Data = 6] Signal line 3 and 2 are activate
[Data = 7] Signal line 1, 2 and 3 are activate
[Data = 8] Signal line 4 is activate

[Data = 9] Signal line 1 and 4 are activate
[Data = 10] Signal line 2 and 4 are activate
[Data = 11] Signati line 1, 2 and 4 are activate
(Data = 12] Signal line 3 and 4 are activate
[Data = 13] Signai line 1, 3 and 4 are activate
[Data = 14] Signal line 2, 3 and 4 are activate
[Data = 15] Signal line 1, 2, 3 and 4 are activate

[Data = 16 to Data = 31] Reserved

> [Command = 4] The Address of client

m]

]

[Data = 1 to 255] Active client

[Data = 0] All client are active

> [Command = 5] Measuring

a

[Data = 0] Transfering new data

o [Data = 1] Sending code and address to client

a [Data = 2] Trig the terrameter to measuring, recieving the new data

> [Command = 6] Memory Access { * Must be go out by Command = 0 when

working complete}
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o [Command = 0] Go out of memary access function

o [Command = 1, Data = XXH] Set the pointer of high byte memory address to
XXH

0 [Command = 2, Data = XXH] Set the pointer of low byte memory address to
XXH

O [Command = 3] Read the 4 High bits of data from memory where following
by the pointer of type of memory {(see Command = 1) and at the dddress
where following by address pointer
®  External RAM
®  External EEPROM

0 [Command = 4] Read the 4 low bits of data of above command and increase
the memory address pointer

o [Command = 5] Read the 4 high bits of data from the microcontroller internal
memory at the peinter address

0 [Command = 6] Reserved
> [Command = 7] Working completed

fatinlusunsunsamdayaanuiinlumicaanuinaetreulnsayiin Mdousanim
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Program Test;
Uses Crt.Dos;
Const
MaxChr =10,
MaxArray = 200,
Type
Striype = String{MaxChr+2];
DataAType = Array[1..MaxArray] Of StrType;
Var

Data : DataAType;
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i.j.k,Electrode,FNum,| : Integer;
ABegin AEnd,Num : Word,
Einterval : Real;

DataType,N,Remain . Byte;
Strivay : StrType;
Ch : Char;

Procedure Command(P888:Byte;P890: Byte): {mﬁ’}g\ﬂﬁﬂﬂﬂm‘ﬂqﬁm}
Begin
Port[888] := P888;
Repeat
Port[890] := P8J0; {dqﬁ’]é"uLﬂ:ﬁtymﬁmnT:ﬁu‘lﬂﬁ Command Waim}
Until Port[889] < 128; {saauninAsulnsayiiniianiuzlinien A5umndanda))
Repeat
Port(890] := P890 + 8; {1fudryryntunszsulviatluantusdngy
Until Portf889] > 127; sasundnaeulnsaylnfianiusnian (enuaiauda)

End;

Function GetData{P890:Byte):Byte;
Var
Way : Byte;
Begin
Repeat
Port[890] = P890,
Until Port[889] < 128;
Port[890] := P890 + 8;
Repeat
Way .= Port[889]
Until Way = 127;
GetData := Way;



End;

Function GetNext : Byte,

Var
Way : Byte;

Begin
Way := (GetData{3) Shi 1);
Way 1= Way And 240,

Way 1= Way Or ((GetData(4) Shr 3} And 15);

GetNext = Way,

End;

Function GetByte(Address : Word) : Byte;
Begin
Command((Address Shr 8),1);
Command(Address,2);
GetByte 1= GetNext;
End,

Function GetWord(Address : Word) : Word:
Var
Way . Word;
Begin
Way := (GetByte(Address) Shi 8);
Way ;= Way Or GetNext,
GetWord := Way;,
End;

Begin
ClrScr;
Command{(0,6);
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FNum := GetByte(1);
writeLn('Total ',FNum," Files');
Command{(C,0);
Command{0,7);
Write('Select file ? ');ReadLn(i);
While (i > 0) And (i <= FNum) Do
Begin
Command(0,6);
ABegin = GetWord(16%i);
Num := GetNext;
AEnd = GetWord(16*i+3);
Eintervai := GetNext / 10,
DataType = GetNext;
N = GetNext;
Remain = GetNext;
Electrode := GetNext;
k:=0;
=0,
Strway (= "
j .= GetByte{ABegin-1);
Forj:= 1 To (AEnd - ABegin) Do
Begin
ki=k+1,
Ch := Chr{GetNext);
If (Ch="") And ((k=1) Or (Strway[1]="")) Then
Begin
Strway .= Strway + '0";
End;
Strway ;= Strway + Ch;
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If k = MaxChr Then
Begin
k:=0
[:=1+1;
Datall] := Strway;
Strway :=";
End,
£nd,
WriteLn{'Begin  '.ABegin:6);
WriteLn('End ' AEnd:6);
writeLn{'Num " Num:6);
WriteLn('Interval ' Elnterval:6:2};
WriteLn('Data type ',DataType:6);
WriteLn('N "N:6);
WriteLn{'Remain ',Remain:6),
WriteLn('Electrode ' Electrode:6),
Readlin,
=0 0= 0
Repeat
=1t
Write(i:3,") );Write(Data[i]:11." ');
1f (i Mod 4)= 0 Then WriteLn;
Until i = Num;
Command{0,0);
Command(0.,7);
WriteLn;
Write('Select file ? ');ReadLn(i);
End;
End.





